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SECTION I – LANGUAGE COMPREHENSION (15 x 1 = 15 points)
Which of the following sentences best expresses the meaning in the given sentence?

1. Of the 50,000 characters in the Chinese language, you need to learn just 2,000 to comfortably understand a newspaper.
A) Chinese contains 50,000 characters, but only 2,000 are used in newspapers, so studying the others isn’t necessary.
B) You don’t have to learn all 50,000 Chinese characters to understand a newspaper clearly; in fact, learning 2,000 of them is sufficient. 
C) You needn’t learn over 2,000 of the 50,000 Chinese characters unless you want to read a newspaper well. 
D) If you learn only 2,000 more of the 50,000 Chinese characters, your ability to understand a newspaper may improve.

2. Christopher Columbus has traditionally been thought of as the one who discovered America, but the Vikings had arrived there earlier.
A) Christopher Columbus has often been considered to be the explorer who first arrived in America despite the Vikings finding it at an earlier date.
B) In spite of Christopher Columbus’ claims that he was the first to travel to America, it has become known that the Vikings had arrived before him.
C) The Vikings, who actually had explored America before Christopher Columbus ever did, have been getting more recognition for the discovery they made.
D) The Vikings’ discovery of America must have been known to historians; nevertheless, they have usually said that Christopher Columbus discovered the Americas.

3. Rejecting Columbus’ claim that he had found a new route to Asia, Amerigo Vespucci was the first to name America the "New World".
A) Amerigo Vespucci, who did not accept what Columbus said about finding a new route to Asia, first called America the “New World”.
B) After it became clear that Columbus had not actually identified a new route to Asia, Amerigo Vespucci suggested that America was the “New World”.
C) There was a great disagreement between Columbus, who reported discovering a new route to Asia, and Amerigo Vespucci, who said America would be the first “New World”.
D) After an argument with Columbus, Amerigo Vespucci refused to believe that Columbus had come across a better route to Asia and started saying that he had found the “New World”.

4. When they left on their first adventure, Marco Polo’s father, who had made his living as a traveling merchant during Marco's childhood, barely knew his son. 
A) Not knowing about his father’s previous adventures, Marco Polo went on a trip with him working as a trader.
B) Leaving on their first journey as merchants together, the child Marco Polo and his father were almost strangers to each other. 
C) Having left on a trip with his father, Marco Polo learned of his father’s experiences as a trader when he was a child.
D) Having worked as a trader when Marco Polo was young, his father hardly knew him when they began their travels.  

5. Marco Polo may have exaggerated some details when writing about paper currency, coal, and other phenomena unknown in Europe, but overall he gave an accurate account of his travels to China.
A) Marco Polo traveled to China and carefully wrote about some amazing developments that had not yet come to Europe such as paper currency and coal.
B) The highly debatable writings of Marco Polo on subjects such as paper currency, coal and other developments that had not yet come to Europe include exaggerated as well as trustworthy parts. 
C) Writings of his travels to China by Marco Polo about paper currency, coal and other things not yet common in Europe are considered to be more accurate than the writings of other authors of his day.
D) Marco Polo’s writings about China, which included information about paper currency, coal and other things that were not yet heard of in Europe, were generally correct although small parts were possibly exaggerated.
6. There can be “perfect bilinguals”, that is, people who speak two languages equally well, but in general bilinguals do not display perfect balance between their two languages.
A) Even “perfect bilinguals” who have been able to master two languages are slightly better at one of the languages compared to the other.
B) There are a large number of people who have been able to learn two languages, many of whom are “perfect bilinguals” and have achieved complete fluency in both languages.
C) While it is possible for speakers of two languages to know both so well that they are “perfect bilinguals”, it is more common for them to be stronger in one language than the other. 
D) Every language learner should aim to be a “perfect bilingual” who can speak equally well in two languages, yet many will not be able to learn the second language as well as the first.

7. In the past, it was generally believed that teaching children another language at an early age would delay their language skills and limit their intellectual growth.
A) Young children who studied too much were thought to be unable to learn their own language properly or to reach their full potential.
B) At one time, people became aware that learning another language too early made children learn their mother tongue poorly and fail to progress in other areas.
C) The common view used to be that when young children learned a second language, it prevented the development of their language skills and reduced their learning in other areas, too. 
D) People often thought that either young children’s ability to express their own language or their capability to learn other subjects was harmed if they started learning a second language too early.

8. Spoken around the Pyrenees Mountains in France and Spain, Basque is the only language in Europe which is not known to be related to any other language. 
A) The Basque language, which is used by people living in the Pyrenees Mountains in France and Spain, is unique among European languages because no other language similar to it has been found.
B) Researchers have been trying to find the connection between Basque, the language used in the Pyrenees Mountains in France and Spain, and the other European languages. 
C) People are talking about Basque, a language which is common in the Pyrenees Mountains in France and Spain and has no connection to other languages.
D) It is unclear whether Basque, a language used in the Pyrenees Mountains in France and Spain, has similarities to some other language, like many other European languages do. 

9. Modern structures are so complex that they have to be worked on by a team of architects working collaboratively.
A) Since most modern architects work together so well, they must be able to construct amazing buildings.
B) By working as a team, architects have succeeded in designing increasingly more complicated buildings.
C) The challenges involved in making today’s complex buildings may force architects to cooperate more closely.
D) Due to the complexity of modern construction, projects must be done through the cooperation of a group of architects.

10. It is possible to figure out a lot of information about the interior design of homes from ancient Egypt through models of houses that were placed in tombs.
A) It can be said that homes in ancient Egypt had quite advanced designs due to the knowledge gained from models that were in tombs. 
B) Guesses about what the interior of ancient Egyptian homes looked like may possibly be correct as they are based on models taken from tombs.
C) By inspecting model homes which have been found in ancient Egyptian tombs, many things can be learned about the inside of a typical house from this period. 
D) Models of ancient Egyptian houses used to be placed in tombs, and these models should have been used to show what the inside of homes from this time was like.
11. Architecture involves the creative use of materials and technology for projects which have challenging problems that have to be resolved.
A) By utilizing the latest materials and technology, architects manage to find ways to make surprisingly imaginative designs.
B) Using materials and technology innovatively, architects come up with solutions to projects that have issues that are difficult to solve.
C) Some extremely difficult projects given to architects will only be solved if new materials are created and advances in technology take place.
D) Architects have a difficult job because even if they make the best possible use of the materials and technology available to them, they may not be able to succeed.

12. In the 19th century, people traveling by carriage suffered greatly on poor roads, often made impassable by bad weather. 
A) Carriages of the 1800s were unstable and could not keep going in bad weather, so travel was extremely difficult. 
B) Travelers in the 1800s took carriages, which were uncomfortable and unreliable whenever the weather was awful.
C) Poor roads and unpredictable weather were the factors that kept travelers from enjoying carriage rides in the 1800s.
D) Travel by carriage in the 1800s was very uncomfortable due to terrible roads, which were frequently unusable in bad weather. 

13. Security is an important factor for the selection of a holiday destination as people want to feel that they are in a safe environment.
A) Tourists spending holidays in places with few safety issues often say that they are more satisfied with their holidays.
B) Tourists wishing to avoid dangerous surroundings should look for a place that has a reputation for being a safe place. 
C) Hoping to feel secure during their holiday, tourists carefully consider the safety of the place they will go to when making their choice. 
D) A desire to spend time in places where they do not need to consider personal safety may lead a large number of tourists to cancel their holidays.  

14. Although some countries have ended their Ebola-related travel restrictions, travelers should be aware that many travel bans remain in place.
A) While it may be difficult to get into many countries due to the presence of Ebola, some others have not limited travel.
B) Unless travelers are going to one of the countries where there are few problems with Ebola, it is necessary for them to check for travel restrictions.
C) A lot of countries have canceled limitations on travel in spite of the Ebola threat, but people should be aware that restrictions in a few countries continue. 
D) Travel is no longer restricted due to Ebola by some countries, but it is important for travelers to realize that travel to many places is still forbidden.

15. Tourism began to include the middle class only after railways and steamships made travel much less costly.
A) When the wages of the middle class rose significantly, they started to be able to afford the high price of railway and steamship tickets.
B) The drop in travel cost following the introduction of railways and steamships enabled middle-class people to participate in tourism.
C) Railways and steamships greatly reduced the cost of travel for middle-income travelers, who were participating in the growing tourism industry.  
D) The price of travel has been decreasing since railways and steamships came out, and more and more middle-income people have been taking part in it.
SECTION II – READING COMPREHENSION (30 x 1.5 = 45 points)
Read each text and choose the best alternative that answers each question.

Text 1				Swiss Adventurers Hope to 'Fly Forever'
[image: http://news.nationalgeographic.com/content/dam/news/photos/000/892/89238.adapt.676.1.jpg]1		The plane climbs slowly, but as it gains height, it speeds up a bit. Seen from above, every upper surface, from wingtips to tail, reflects sunlight due to blue-black photovoltaic cells. The plane is called the Solar Impulse 2, and the Swiss adventurers who built it, Bertrand Piccard and André Borschberg, intend to be the first to fly around the world using just the power of light. Heading first from Africa to India, next to China, and then on to the United States, their journey will last five months and finally end up where it started. During the longest parts of their flight, over the Pacific and Atlantic Oceans, the men will remain in the air for a few days, beyond the reach of islands or easy rescue. They will face dangerous weather over wide-open water just like earlier adventurers, many of whom never returned.

2		Piccard certainly has the spirit of past adventurers. In his teens, he launched himself from hilltops in hang gliders; in his 20s, he began flying light aircraft. Later, while studying to be a doctor, Piccard took up hot-air ballooning and loved it just as his grandfather had many years earlier. Piccard decided to try to become the first to go around the world in a gas balloon without stopping. Twice he failed, but on his third attempt in 1999 he and co-pilot Brian Jones floated around the globe in 19 days on the balloon they had made themselves, called the Breitling Orbiter 3. Though the men had started with nearly four tons of gas, it almost wasn't enough. During the final hours of their flight, all but one of the gas tanks were empty, and that tank was dangerously low. Piccard was stressed and tired, his previous failures constantly came to mind, and he feared he would not succeed again. Although he was able to complete the flight, he has been obsessed with fuel ever since that time. "Fuel is an impediment which gets in the way of my goal of being able to fly forever," he says.
[image: http://news.nationalgeographic.com/content/dam/news/photos/000/892/89227.adapt.676.1.jpg]
3		During his balloon flight, Piccard decided on his next adventure: He would circle the globe again in a solar-powered craft. He could use clean, fuel-free technology that hadn't been available to his father or his grandfather. He says, "Climate change is presented as a battle between business and comfort. Ecologists often put nature before humankind, and that's a big mistake. We can change the way the world works, not by making people's lives smaller, but by making them bigger."

4		However, making that change is no easy task. Pilot comfort during long, exhausting flights is one of the challenges of flying Solar Impulse 2. During flights, the pilot isn’t able to stand up due to lack of space, though he can push back the seat, which also doubles as a toilet. He sits there for days, often very cold, never getting up. "What if you crash?" someone asked Piccard, thinking of the waste storage tank below the seat. "I hope we don't," he replied. The history of adventure shows that comfort often gets lost while solving practical concerns, but, like many explorers who’ve suffered before them, Piccard is happy to give it up to reach his goal.

16. According to paragraph 1, which of the following statements about Piccard and Borschberg’s flight is FALSE?
A) There is no other source of power for their flight other than solar power.
B) The United States is the last stop on their five-month journey.
C) During some parts of the flight, the period between stops will be at least two days.
D) The flight could end in disaster just like the journeys of earlier adventurers. 

17. The word impediment in paragraph 2 is closest in meaning to ----.
A) alternative
B) development
C) preparation
D) limitation

18. Paragraph 2 states that ----.
A) Piccard’s love for hot air ballooning developed because of the time he spent in a balloon with his grandfather
B) all three of Piccard’s attempts to go around the world in a hot air balloon were unsuccessful
C) Piccard took part in both the building and the piloting of the Breitling Orbiter 3
D) despite a fear of flying, Piccard keeps attempting new challenges in flight

19. In paragraph 3, the reader can infer that Piccard ----.
A) thinks the belief that climate is changing is mistaken
B) would probably advise people to get used to having fewer luxuries
C) realizes that once the ecology of the earth has been damaged, it is impossible to repair  
D) believes that advancing clean technologies may enable us to have more comfortable lives

20. The word it in paragraph 4 refers to ----.
A) the history of adventure
B) comfort
C) solving practical problems
D) the suffering of many explorers

21. In paragraph 4, the text mentions that ----.
A) despite its small size, the Solar Impulse 2 is surprisingly comfortable for the pilot
B) very limited space and cold temperatures reduce pilot comfort on the Solar Impulse 2 
C) the method the Solar Impulse 2 uses to store human waste is neither hygienic nor safe
D) the small size of the Solar Impulse 2 makes it more likely to have a crash


Text 2 					What lies ahead for languages?

1	In 1880, a Bavarian priest created a language that he hoped the whole world could use. He mixed words from French, German and English and gave his creation the name Volapük. It was hard to use because it included complicated Latin case endings and letter combinations that were very difficult to pronounce. It made a splash for a few years, but soon it lost its popularity to another invented language, Esperanto, which was much easier to learn. However, by the time Esperanto got out of the gate, another language was already emerging as an international language: English. Two thousand years earlier, English had been the unwritten tongue of Iron Age tribes in Denmark. No one living then dreamed that English would be spoken today by almost two billion people and on its way to being spoken by one out of every three people on the planet. 
[image: http://si.wsj.net/public/resources/images/RV-AP298_LANGUA_M_20150102174155.jpg]
2	Science fiction often presents us with whole planets that speak a single language, but that fantasy seems more threatening here in real life where some worry that English might eradicate every other language. That humans can express themselves in several thousand languages is a delight in many ways; few people want the loss of this variety. Thankfully, fears that English will become the world’s only language are premature. The spread of English just means that people will tend to use a local language in their own environment and English for communication beyond.

3	Nonetheless, the days when English shared the planet with thousands of other languages are ending. A traveler to the future, a century from now, is likely to notice three things about the languages on Earth. First, there will be far fewer languages. By 2115, it’s possible that only about 600 languages will be left on the planet as opposed to today’s 6,000. Japanese will be fine, but languages spoken by smaller groups will have a hard time. Second, languages will be less complicated than they are today in how they are spoken, even though their written forms will not change as much. Also, French just might be the language of the future. The language is growing fast, and growing in the fastest-growing areas of the world, particularly in Africa. The latest projection is that French will be spoken by 750 million people by 2050.

4	Some may protest that it is not English or French but Chinese that will eventually become the world’s language, because of the size of the Chinese population and the increasing economic power of their nation. However, that’s actually unlikely. First, English happens to have become popular first. It is now so deeply integrated in education and media that switching to any other language would take an enormous effort. Also, the tones of Chinese are extremely difficult to learn after childhood, and mastering the writing system is very hard unless you have been educated in it from childhood. In the past, of course, extremely challenging languages such as Greek, Arabic, and Russian were spoken by many people. But now that English has gained popularity, Chinese is unlikely to replace it. Many world powers have ruled without spreading their language. For example, the Mongols once ruled China while letting the local people speak Chinese. Similarly, if the Chinese rule the world, they will likely do so in English.

5	We may regret the loss of a world where 6,000 different languages are spoken instead of just 600. Nevertheless, there is a silver lining in the fact that ever more people will be able to communicate in one language that they use together with their native one, so fewer languages may not turn out to be bad at all. The future still promises both a good amount of language diversity and ever more mutual comprehension. 



22. The article is mainly about ----.
A) reasons why English is a universal language
B) how past events will affect future languages 
C) predictions for the future of the world’s languages 
D) problems of having great linguistic diversity 

23. Which of the following statements is TRUE according to paragraph 1?
A) Learning Esperanto was more difficult than learning English.
B) Although Volapük received a lot of public attention, it was eventually overtaken by Esperanto. 
C) English originated in Denmark, but it is not related to Danish. 
D) Volapük and Esperanto are two constructed languages that are still popular today. 

24. The word eradicate in paragraph 2 could best be replaced by ----.
A) avoid 
B) resemble
C) recover
D) destroy

25. According to paragraph 2, we can understand that the author believes ----.
A) the spread of English usually improves local languages
B) societies whose native languages are disappearing are pleased with English
C) science fiction has changed the way people use language
D) it is too soon to worry about the possibility that English will become the only language

26. Paragraph 3 states that ----. 
A) languages are likely to become easier in their spoken versions
B) Japanese is likely to be endangered unlike languages spoken by small populations
C) French has become the official language in many African countries
D) a majority of the world's languages will survive until 2115 but have a lot fewer speakers 

27. It can be inferred from paragraph 4 that ----.
A) while English is still the dominant language of technology, Chinese is catching up fast
B) there is increased interest in English in China, where it is the primary language of education and media
C) although some languages were complex, they were still widely spoken in the past
D) Chinese is a very difficult language to learn to speak even for native Chinese speakers

28. The phrase silver lining in paragraph 5 is closest in meaning to ----.
A) positive result
B) great emphasis
C) worrying situation
D) surprising reason

29. Which of the following statements is TRUE according to the article?
A) Volapük eliminated sounds that would be difficult for speakers of other languages to pronounce.
B) English is expected to be spoken by more than 30% of the world’s population.
C) Mongols forced Chinese people to adopt Mongolian when they ruled China. 
D) More mutual comprehension is likely in the future because all languages will have similar features.



Text 3				Liquid Engineering for Building Houses 
1		Not many people have tried building a house out of liquid water. However, Hungarian architect Matyas Gutai believes it is the perfect material for keeping a house at a comfortable temperature. Although he cannot get rid of traditional materials like bricks, cement, and plaster, he is using a new approach to engineering. Gutai built a prototype house in his hometown of Kecskemet, south of Budapest, Hungary, after years of research and development. The house was built with EU support and is an example of the "liquid engineering" concepts Gutai has been developing.

[image: https://dallafontepiupura.files.wordpress.com/2015/04/water-house-02.jpg]2		Panels, some of steel and some of glass, make up the structure of the house, and a layer of water is trapped between them. This equalizes the temperature throughout the building. The house is able to reheat itself because its excess heat is stored either in its foundation or in an external storage unit. It can be brought back to the walls when the temperature drops. As a result, indoor temperature can be increased using a system similar to central heating. Moreover, the house produces solar energy, too, making it fully independent of energy suppliers. "Actually, our panel system can heat and cool the building since the water inside the panels is able to perform both jobs," says Gutai. "The house saves energy while reducing pollution in the environment, making it a clean and sustainable solution." 

3		While studying sustainable architecture at the University of Tokyo in 2003, Gutai got the idea for his water house during his first visit to the open air hot baths. Despite the falling snow, Gutai remained comfortably warm while swimming. That was when he realized the importance of water's ability to hold heat and its potential use in architecture. "Architecture is really changing in our time. Since we've reached our limits when it comes to solid architecture, we need to look for new ways to improve systems," Gutai says.

4		After Gutai designed his first water house, colleagues made comments about some possible problems such as what happens if it is so cold outside that the water freezes and what happens if one panel breaks. To deal with the first issue, Gutai started mixing the water with natural solvents that lower the freezing temperature but do not cause pollution. This means that even when it gets cold outside, the water has some protection against freezing. When building his houses in a cold climate like Hungary, Gutai also adds external insulation to the structure to protect it from freezing. Gutai came up with a solution to deal with a panel that breaks, too. "I designed special joint units which allow slow liquid flows but block faster ones," he explains. Thus, if one panel breaks, it is plugged by these joints, so liquid cannot leak out. This precaution is based on fluid dynamics, not on computers or a monitoring system, so it minimizes the chance of problems.

5		Gutai’s prototype house is small (8m2 in total), but this little building demonstrates the potential of this new technology for saving energy on a greater scale. "Our goal as architects and engineers should be to use less energy and fewer materials and make people independent of power supply systems. A water house is one way to do that," said Gutai. Constructing houses in this way is more expensive than traditional designs, but this design will slash a home’s energy costs, so in the long term, the house will actually be more economical than a traditional home.  Gutai hopes companies across Europe will want to make use of his new design and make water the building material of a greener future.

30. In paragraph 1, the reader learns that ----
A) other than Gutai, few people have attempted making water an important component in construction
B) soon Gutai will not have a need for materials that are typically used in construction
C) homes designed by Gutai using “liquid engineering” principles have become popular in Hungary
D) Gutai first learned about “liquid engineering” when he participated in a project financed by the EU

31. In paragraph 2, the writer mentions all of the following advantages of Gutai’s house EXCEPT ----.
A) the ability to maintain a constant temperature
B) integration with the power supply system
C) the capacity to increase its temperature after it cools off outside
D) a reduction in contamination to the environment  

32. According to paragraph 3, Gutai ----.
A) was inspired to build his house by a guest who talked about open air hot baths
B) had not considered water as a construction material before experiencing open air baths
C) believes architects need to create innovative new solids as well as make use of liquids
D) thinks architects have made so many improvements that architecture cannot advance any further  

33. The word plugged in paragraph 4 could best be replaced by ----.
A) used up
B) cooled off
C) [bookmark: _GoBack]heated up
D) closed off

34. Paragraph 4 mainly discusses ----.
A) two problems that Gutai has come up with solutions for 
B) a number of issues with Gutai’s house that he hopes to begin dealing with soon   
C) how new technology has been used to overcome problems in Gutai’s house
D) why Gutai’s house has a positive effect on the environment

35. The word slash in paragraph 5 is closest in meaning to ----.
A) design
B) identify
C) reduce
D) review

36. Paragraph 5 implies that -----.
A) homes using water in their construction do not need to be small in size to reduce energy use
B) Gutai does not think materials other than water can make homes independent of power suppliers
C) because water is inexpensive, it reduces the cost of constructing a new building
D) Gutai has many offers from European companies to use his new approach in building projects

37. From the text, the reader can infer that ----.
A) many research projects sponsored by the EU are taking place in and around Budapest
B) Gutai wants to settle in Japan due to his positive experiences at the university of Tokyo 
C) colleagues’ comments led to significant improvements in Gutai’s home design
D) the natural solvents that lower water’s freezing temperature completely eliminated the freezing problem



Text 4					Education for Syrian Refugees	       			
1		In Lebanon, the number of refugees escaping from the war in Syria has risen to one million, and 630,000 of them are between 3 and 18 years old. Back home, the great majority of them were in school. However, young Syrians who try to continue their education in Lebanon face social, economic and bureaucratic obstacles. Also, the cost can be so high that their parents may elect to keep them at home. 

2		Divisions are forming according to national identity. In Lebanon, refugees from Syria fall into two main national groups: Syrian nationals who possess Syrian IDs and Palestinian refugees who were living in Syria and who carry Palestinian IDs. These Palestinian refugees are known as “PRS” (Palestinian Refugees from Syria) by the United Nations and humanitarian agencies. 

[image: F:\palschool.jpg]3		In pre-war Syria, students from both groups attended school together and had equal access to education. In Lebanon, due to their status as Palestinian refugees, PRS have the right to attend schools run by the UN Relief and Works Agency (UNRWA). On the other hand, the UN High Commissioner for Refugees (UNHCR), which assists all non-Palestinian refugees, does not run any schools. That’s why Syrian nationals must attend Lebanese public schools. The dropout rate for Syrian students in Lebanese public schools is approximately 70 percent. Illustrating one reason for this statistic, one Syrian mother said she desperately wanted her 9-year-old, Mazin, to attend school but that he was “insulted and beaten there.” Lebanese students targeted Mazin because he was academically behind, especially in science and math. The reason for this was that he used to be taught these subjects in Arabic but now had to study them in English and French. Like other Syrian refugee students, Mazin was given no help with these European languages in Lebanese schools.

4		Mazin’s struggle with Lebanon’s bilingual curriculum stands in contrast to UNRWA’s success in integrating 7,486 PRS into the Lebanese curriculum. This success is due to separate summer classes and additional English language teaching provided by UNRWA. In short, PRS have an educational advantage over Syrian nationals due to their status as “double” refugees who qualify for services under UNRWA in Lebanon.

5		There are also many challenges for Syrian students in Lebanon who want to attend university. In the Lebanese system, students who attend official schools must take the Brevet and the Baccalaureate, major exams that follow the ninth and twelfth grades, respectively. Passing the Brevet and the Bac allows students to apply to universities. However, in order for refugees to register for these exams, the Lebanese government requires that Syrian refugees obtain their grades from the last three years from their schools in Syria. They must bring those records to the Syrian Ministry of Education to receive a stamp and get certification from the Syrian Ministry of Foreign Affairs. The total cost for getting the stamp and certification is approximately $500 per student, so refugees with little money may have to choose between paying for rent and food and obtaining these documents.  Beyond the cost, which is extortionate for many refugees, another problem is returning from Syria when getting the necessary documents. Some Syrians who return to Syria may not be able to get the kids’ report cards due to the fighting in Syria. Even if they manage to get the necessary documents and reach the Lebanese border, they may be denied re-entry to Lebanon and have to stay in Syria. 

6		Refugee parents in Lebanon now refer to their children as the “burned” or “lost” generation. In the long run, parents worry that today’s youth will not be prepared to cope with the physical and economic demands of reconstructing Syria.  

38. The word elect in paragraph 1 could best be replaced by ---.
A) refuse
B) choose
C) separate
D) achieve 

39. According to paragraph 3, it is TRUE that ---.
A) Syrian nationals live in Palestinian refugee camps in Lebanon
B) Lebanese public schools do not accept Syrian nationals
C) almost 70 percent of Syrian students in Lebanese public schools are Palestinian refugees
D) Mazin took science and math lessons in pre-war Syria  

40. From paragraph 3, it is understood that Mazin ---.
A) is a Palestinian refugee who grew up in Lebanon
B) is a Syrian national who is currently living in Lebanon
C) had to attend a school run by the UNRWA
D) was made to leave school because he attacked his schoolmates

41. From paragraphs 3 and 4, we CANNOT infer that ---.
A) both Palestinian refugees and Syrian nationals need extra language courses to succeed at school in Lebanon
B) Mazin could have been successful at school if he had known English and French
C) Syrian nationals can attend separate summer classes provided by UNRWA
D) Lebanese students learn English and French at an early age 

42. The word extortionate in paragraph 5 could best be replaced by ---.
A) affordable
B) high
C) reasonable
D) inexpensive

43. From paragraph 5, it can be understood that ---.
A) Lebanese students needn’t take any exams to apply to university unlike Syrian refugees
B) students in Lebanon take the Bac exam in the ninth grade
C) to register kids for the Brevet or the Bac, Syrian parents must go back and live in Syria for 3 years
D) financial and administrative issues keep refugee families from sending their kids to university 

44. In paragraph 5, it is NOT MENTIONED that some Syrian refugees in Lebanon ---.
A) get put in prison when they return to Syria to get required papers for their kids’ exams 
B) cannot afford a child’s proper registration for school
C) cannot enter Lebanon again after they go back to Syria 
D) go back to Syria to obtain necessary paperwork for their kids’ exam registration

45. According to the text, it is TRUE that ---.
A) UNHCR has been more successful than UNRWA in integrating Syrian refugees into the Lebanese education system
B) in pre-war Syria, Syrian nationals had advantages over Palestinian refugees in the education system 
C) most of the Syrian refugees in Lebanon do not have IDs
D) more than half of the refugees in Lebanon who are escaping from the war in Syria are under 18 years old 
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collect up to 340 kilowatts per

day (the average amount used in
aU.S. home over 11.3 days). Q
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Solar Impulse 2
Boeing 747-6i

BATTERIES COCKPIT MOTORS

A 519-pound lithium polymer The 12.5-cubic-foot single pilot  Four electric motors, each

battery is mounted with each of cockpit is smaller than a driving a two-blade propeller,

the motors. Together the batter- midsize sedan’s trunk. The are mounted below the wings.

ies equal more than aquarter of  pilot's seat functions asbotha  Each averages 15 horsepower
the aircraft’s total weight. reclining bed and a toilet. (similar to a riding lawnmower).
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Tea-Water Pavilion
Exploded view
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